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(R6~R7) =
HEKERE *REE 1.680 = 2430 750 145 F/h
RiE15-RES- 5iES 840 = 1.160 320 138 H/h
5iEE (EAFAA) 0 = 150 90 250 F/[E
REBE 1110 = 540 A 570 049 M/h
PREE 280 = 340 60 121 A/h
INRBE 160 = 190 30 119  FA/h
§iE15 100 = 100 0 1.00[ F/h
R BA{E A FERAND1~3E - 0 M/h
REEEEAR AE 7= 9,670 = 9,670 0 1.00| F/h
BERE 6,020 = 6,020 0 1.00( FM/h
BE 7)—F 4,830 = 4,830 0 1.00(  FM/h
BEE 3,020 - 3,020 0 1.00 FM/h
BAEE- LRAEE *REZE 450 - 670 220 149 HM/h
REBE 230 = 340 110 148| HM/h
e 60 = 0 A 60 0.00| M/h
WEEEERR AE REE EAMDIE = 0 M/h
B&E SHE ERABD2E = 0 M/h
Pl 8- ERFArN=F: e RN o *EE 910 - 1.350 440 148 F/h ZH—YS R R
RBE 320 = 540 220 169| M/h 0985-20-5151
A R AR 1 = 0 A 130 000[ M/h
AEERE AN AR sHE ERMDIZ = 0 M/h
ER E fEAMD2E = 0 M/h
ELRIAEEE RE=E 1.680 - 2.430 750 145 M/h
REBE 630 = 540 A 90 086| M/h
BEARFEERAN FERAMDI~3E = 0 MA/h
AEEERAN 2BE 100 = 0 A 100 0.00| HM/h
X REREE T7U—% 870 - 1.350 480 155 F/h
BERE 210 - 360 150 171 A/h
HEEHAEE HEE 430 870 1350 920 314 HA/h
BEKREE NULAEE - RERKEE |KEE 150 310 670 520 447 A/h
BRAEE KRR RIS 430 1180 2430 2,000 565 M/h
5 250 = 360 110 144 FM/h
MHRR—Y 25— BEEE 340 180 1.350 1,010 397 M/h
BIHRS 110 = 360 250 327 M/h
F—Ra—hk 130 - 100 570 538 M/h
xT— 10 - 0 A 100 000 FM/ME
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HiEfE X RRESE 100 = 360 260 360 M/h
=G EE S 150 = 360 210 240 M/h
BEN—=2T 58— 150 = 360 210 240 M/h
B&GHEELE— B 7U—% 430 870 1.350 920 314 M/h
S—TFAVTI—L MR fE FH 100 - 340 240 340 HM/h
AEEEAR 100 - 0 A 100 000[ M/h
F— T— 100 - 150 50 150 FM/h
ELE X REESLS LRI TIOUF 4] 630 1.260 1,260 A/h
el B 6.600 - 1260 | A 5340 019 FM/h
FZRa—hk 0 210 420 420 M/n
YU RR—YSUREE ZEMTTIUR 250 670 940 690 376 M/h
F=Ra—h+ MR AR 340 - 100 360 206 M/h
el R 780 - 510 A 270 0.65| FM/h
F—biR—ILi5 220 - 310 90 141 HM/h
BMERR—Y/—4 AN =R RR—YEE EAEA 200 - 300 100 1.50| F/H
HHLE B RARE F=Za—hk 630 = 700 70 111 FA/h
EHOHEFHLE FAE—REST L JIoUk 1.680 - 2,520 840 150 F/h
ERRES 150 - 360 210 2400 VN L z—ysorsn
YF—Ia—F— 50 - 360 310 720 HM/h 0985-20-5151
WUk R AR 630 - 630 0 1.00| F/h
HREASR & 7,750 = 17,750 0 1.00| F/h
REBEE MERX (E A% 510 - 540 30 1.06| F/h
AEREFERAH 420 - 0 A 420 000 M/h
INREBEA i3 gk ) 100 - 190 90 190 FM/h
AEREERAH 50 - 0 A 50 0.00| M/h
INEHEB HEERfE AR 200 - 340 140 1.70| F/h
AEFEERAN 100 - 0 A 100 0.00| HM/h
BEE=E MERX(E A% 100 - 190 90 190 F/h
AEREFERAH 50 - 0 A 50 0.00| M/h
ISHEE MEER(E A 200 - 340 140 170 F/h
AEEFERAH 100 - 0 A 100 000 M/h
AaAFHR—F 730 = 730 0 1.00| A/&HE
FelE 630 = 630 0 1.00 MH/8
E2% k15 TR 840 - 1,260 420 150 F/h
HREASR A 4,400 = 4,400 0 100 F/h
Z2a7R—K 730 - 730 0 100 A/&HE
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HHAE £ EOHESHLE [FAVF—L F7U—F 840 - 1.260 420 150 F/h
FE AR 160 - 360 200 225 HM/h
HRBAER 1,260 = 1,260 0 1.00{ FM/h
S—FAVTII—L HEER E A% 200 - 340 140 170  FA/h
AR 150 - 0 A 150 000[ FM/h
hEE 7YU—% 1.260 - 1.350 90 107 F/h
HREAER 930 - 0 A 930 000[ M/h
REE1-2 % A% 200 = 340 140 170  F/h
AEEEAR 200 - 0 A 200 000[ M/h
F=Ra—hk HER AR 630 = 700 70 111 A/h
BREAEK 510 = 510 0 100 F/h
EER HEEX E A% 200 = 340 140 170 F/h
MEFEERN 150 - 0 A 150 0.00| M/h
ZHMIFIURA 840 - 1,260 420 150 F/h
LB IIUFB RKRZ@EIZDE) 840 - 1.260 420 150 F/h
AIZ 1.260 = 1.890 630 150 F/h
R 1,260 - 1,260 0 1.00| F/h Z%&aé—%—%#&
fE b3R5 TR Sifzy 1.680 - 2.420 740 144 HM/h
®E=E MERX (E A%+ 100 = 190 90 190 F/h
AEEERAN 100 = 0 A 100 000 M/h
REBE MR 5 A A 100 - 190 90 1.90 F/h
AR 100 - 0 A 100 000| F/h
RRERE HEER 5 A A 100 - 190 90 190(  FA/h
REEEERAR 1 = 0 A 100 000[ M/h
REE MR {5 A 150 = 190 40 127 H/h
AEEERAN 100 = 0 A 100 000 M/h
EHBE MERR A A 100 - 190 90 1.90| F/h
AR 100 - 0 A 100 000| F/h
ER=E MR ek AR 100 = 190 90 190 F/h
REEERR 1 = 0 A 100 000[ M/h
MEE MERX (E A% 510 - 190 A 320 037| MA/h
MEEERAN 100 - 0 A 100 0.00| M/h
EiEi5 100 = 100 0 1.00| A/
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N AEHBENE k5 J59Uk 1,040 = 1,260 220 121 FA/h
el B 7.320 - 4400 | A 2920 060 FM/h
REE (BEHFEET) MERR(E A # 1.040 - 630 A 410 061 M/h
WEEERN 510 - 0 A 510 0.00| M/h
Z2a7HR—K 630 - 730 100 1.16| A/&HE
BXRE 10 - 0 A 510 0.00( AH/F—L
) — 100 = 0 A 100 000 M/@E
FE b3R5 200 620 1.260 1,060 6.30 M/h
F=Za—hk HEERfE A 310 - 100 390 226 M/h
REAR 510 = 510 0 1.00 A/nh
v — 100 = 0 A 100 0.00| M/ME
BiES BA 100 - 150 50 150 F/E
Mo S E G BA 1 = 150 50 150 FM/@E
INE—T )T -Z2=N\—=HT )L 75 250 = 250 0 100 H/A
HAEESHNE £ BHILS JIoUk 940 = 1,260 320 1.34| M/h
BRI R A AR 510 - 510 0 1.00[ M/h
k5 TI9UR 560 - 1.060 500 189 F/h
FRBAEL i 6.600 - 3710 | A 2890 056 FM/h ZH—YS R
Za7HR—K 200 - 130 530 365 M/EA 0985-20-5151
F=RXa—hk JL— 1 = 420 110 135 F/h
BAYAILZ 510 = 100 190 137 FA/h
RiEfE 240 = 360 120 150 F/h
S BA 100 - 150 50 150 FM/@E
P ¥NE| Frekis TSR 250 670 840 590 336 M/h
HRBAER 4,360 = 2,590 A 1,770 059 M/h
*hEE F7U—F 310 1.060 2430 2,120 784 HM/h
THEEER 210 - 540 30 1.06| F/h
5iES —MRERE 100 - 150 50 150 FM/@E
ErEi5 200 = 200 0 1.00| M/H
ARBREEHLE SOKKENRADT Ls J59Uk 630 1470 2520 1,890 400 M/h
Z2a7HR—K 420 = 730 310 1.74| A/HE
REE (BEHFEET) MERX (E A% 630 = 630 0 1.00 F/h
AEEERR 150 - 0 A 150 000[ M/h
ayh—IL—L HEER E A 510 - 0 A 510 0.00| F/F—Ls
WEEEERR 250 - 0 A 250 000 FA/h
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x— 100 = 0 A 100 0.00| M/ME
N ARRSEHLE SOKKENRAST L ER=E MEEX E A% 100 - 190 90 1.90 F/h
REEEERR 50 = 0 A 50 000 M/h
BiEE HEER A H 100 - 190 90 190 F/h
WEEEERR 50 - 0 A 50 0.00| MA/h
ZENE MERR(E A # 100 = 190 90 190 F/h
AEEFERR 50 - 0 A 50 000[ M/h
REE1 HEER (E A 200 = 190 A 10 095| M/h
AR 100 - 0 A 100 000[ FM/h
RBE2 MR AR 100 - 190 90 1.90 F/h
AEEEAM 50 = 0 A 50 000 M/h
BEBa—F= % A% 200 = 190 A 10 095 F/h
AEEERR 100 - 0 A 100 000[ M/h
REE HEER E A 100 - 190 90 190 F/h
WEEEERR 50 - 0 A 50 0.00| M/h
BRUAESHLER SOKKENRAST Ly BEE MERR(E A F 100 = 190 90 190 F/h
WEEERN 50 - 0 A 50 0.00| M/h
PEEFER AEEERAN 200 - 0 A 200 000 FM/h
TEHES 160 - 360 200 225| F/h ZR—YSU R R
F258kS el 630 1.050 1.260 630 200\ F/h 0985-20-5151
Z2a7HR—K 420 = 730 310 1.74| A/HE
BEE (REHEFEET) MEER(E A 630 = 630 0 1.00| F/h
AEEERR 50 - 0 A 50 000[ M/h
FEHlmE HEER A A 100 - 190 90 190(  FA/h
WEEEERR 50 - 0 A 50 0.00| M/h
ZENE MERR(E A # 100 = 190 90 190 F/h
WEEERN 50 - 0 A 50 0.00| M/h
BRIEEEE S BHGEES 320 = 360 40 113 A/h
HREAK 200 = 0 A 200 000[ FM/h
BREF—L HEER S AR 490 - 140 250 151 HM/h
HREAR R 2.660 = 740 | A 1,920 028| M/h
Iy — 100 = 0 A 100 000 M/@
fL—=2i% BA 310 = 310 0 100 FH/A
RERE MR fE AR 200 = 190 A 10 095| F/h
WEEEERR 100 - 0 A 100 000[ FA/h
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E17F=—xa—k Rk s A 630 = 940 310 1.49 A/h
IRBAER 510 = 510 0 1.00{ FM/h
&R BERUAESHLR FE2F=Ra—+h R Ak AR 630 = 100 70 111 M/h
HREAEk iR 510 = 510 0 100 F/h
EEE ek A% 200 = 190 A 10 095 F/h
AEEEER 100 - 0 A 100 0.00 FH/h ZAE—YSUR R
SRMTTIVE SRR 1.080 = 1.260 180 117|  F/h 0985-20-5151
HREAGR & 2130 = 1,260 A 870 059| M/h
EA=L:) ] 210 690 1.260 990 467 M/h
S5 BA — i ERE 100 = 150 50 150 F/@E
Al S5z sk SR AR AR N B 2 BHIILS 840 = 1,260 420 150 F/h
FZRa—hk 630 = 700 70 111 A/
E£BELE FZRa—hk 630 = 100 70 111 A/h N
HOBANE HABKS 840 - 840 0 100 F/h 0985-21-1814
2 EMRKR—YIEE 840 = 1.260 420 150 FM/h
F=ZRa—hk 630 = 100 70 111 A/
VAN F=Za—h 630 - 100 0 N AR RAERE
A E F=Za—h 630 - 700 70 11| Am 0985-85-1106
BANERA Y5 hE=E 960 - 1 390 141| M/ ME"J tLfRttR




